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Tuesday, September 27, 2011

--- On commencing at 9:30 a.m.

MS. HELT:  Good morning, everyone.  I see that everyone is ready, so you may as well get started.

This is Day 2 of the technical conference of Hydro Ottawa Limited's cost-of-service application, Ontario Energy Board File No. 2011-0054.

I believe at the outset we will just deal with a few preliminary matters, and I understand there are some clarifications that Hydro Ottawa is seeking with respect to an undertaking, as well as to provide some revised information from yesterday?
Preliminary Matters:


MR. CASS:  Yes, that's right, Maureen.  I believe that Jane has some corrections from yesterday's transcripts.  I should just make clear this doesn't cover the entire transcript.  It's just the portion that Jane has looked at that relates to her testimony that she would like to make some corrections to.  And as you said, there's also a request for clarification of an undertaking.

MS. HELT:  Thank you.

MS. SCOTT:  The first correction I would like to make is to, actually, the handout MT1.1.  And it was pointed out to me that in that handout it says "originally asked for clearance of smart meter accounts", and that should read "originally asked for a prudence review to the end of 2010".

The next one is in the transcripts, and on page 9, line 21, and this is where I was talking about the Board's revenue requirement work form.  And what the transcript says is "I admit defeat.  I am going with the bottle", and what it should have said is "I am going with the model".

MS. HELT:  That's quite funny.

MS. SCOTT:  Yes.  It may be true, but that's not what I said.

The other clarification I wanted to make was on page 48, line 21, and Mr. Aiken had asked me if the 78255-million was additions for 2011, and I said "yes, it was additions", and I misspoke.  It is expenditures.  So the answer to his question "is there anything in the expenditures that would not go into rate base", the answer is, yes, because there is a CPI of 38.9 million.

And the only other correction was on page 150, line 22.  It refers to our counsel as Mr. Kitchen, and it should be Mr. Cass.

MS. HELT:  Thank you very much.

MR. SIMPSON:  Sorry, I was also looking for clarification on one of the undertakings, if I could.  I don't have it hard copy, so I will just work from what I am seeing electronically.  So Undertaking No. LT1.7, which came about in response to a Board staff question, the wording on the undertaking is "to provide figures for head count versus FTE in Exhibit D3-1-1".  I just want to be clear.  My understanding of the question yesterday, and now that I have gone back and looked a little closer, was to confirm whether or not the tables, which is really just table 1 in that exhibit, is in FTE or in head count.

MS. BINETTE:  That is correct.

MR. SIMPSON:  That's correct?  So it is in FTE, which -- and we'll formally respond, but the request is not to translate it into head count.  That's my understanding.  It's just, that's not the way it's worded, so I wanted to be clear.

MS. BINETTE:  That's correct.

MR. SIMPSON:  Thank you.

MS. HELT:  Thank you.

Is there anything further?  All right then.  I believe, Mr. Shepherd, you are going to start, or your colleague Mark is going to --

MR. SHEPHERD:  Mr. Rubenstein will do it.

MS. HELT:  Thank you.
HYDRO OTTAWA – PANEL 1, Resumed

Mike Grue


Geoff Simpson


Jane Scott


Bill Bennett

Questions by Mr. Rubenstein:

MR. RUBENSTEIN:  Good morning, panel.

So a number of my interrogatories have been answered. So if we can jump to Technical Conference Question No. 2.  The question I was asking was, during the test year, what percentage of the vehicle usage will be used for training compared to maintaining distribution assets.  So this was in response to an interrogatory about the purchase of some new vehicles.

MR. SIMPSON:  Right.  So as per the response to the Interrogatory K2-3-4, there are six units planned to be acquired in 2012, or ordered, at least, for the apprentice program.  The exact percentage of those used for training, as you call it, I mean, the fact is the vehicles are required for training in both our in-house apprentice training and our new Algonquin College program.

So with the in-house program the apprentices are in a classroom training environment for about three months of their first year with us, and after that they are -- they join crews, for which these vehicles are required, and work on distribution assets.

In the Algonquin program they are in class for the first year one day a week, and then within a few months they also begin working on crews and with -- and essentially working on distribution assets, along with the crews that they are supporting.

So really, their time is spent in Greenfield capital projects using the vehicles.  So we are recommending an addition to the fleet of six vehicles in total related to the apprentice program.

Based on everything that I have said, it's as a specific percentage of what time is used sort of "in class" related to those vehicles, versus on the road with senior journeymen linemen and working on distribution assets is very difficult to say.  It's a small percentage, though.

MR. RUBENSTEIN:  Okay.  If we could jump to -- so in No. 3, this is involving the CIS implementation.  Does the applicant believe that there has been or will be any cost savings from the discussions it's had to date?  And if so, please provide the details.  And that was specifically the discussions with other utilities about implementation.

MR. SIMPSON:  Right.  At this time, you know, the discussions with the other utilities have progressed, in some ways completed.  There are a lot of opportunities that have been explored to work closely together and share ideas, but primarily due to timing differences in implementations, there really are no concrete cost savings that have been identified.

MR. RUBENSTEIN:  Okay.  Question No. 4, and this is asking you to reconcile the answer in K2-2.1, No. 34, in which the applicant states it does not assess the difference in operating costs between a hybrid and non-hybrid vehicles, with this answer in K2-2.315 with respect to the cost impacts in the environmental standards associated with the point system procurement policy.

So just to backtrack, so if I understand the procurement policy correctly when it -- in respect to environmental standards, if the cost -- if the cost is the same for -- between two different vendors, you will go with the vendor roughly that is more -- that has a higher environmental point system or is better environmentally.

Yet when you were discussing, and you -- and this was also involved with your discussion yesterday with Mr. Silk about hybrid vehicles.  You had stated that you hadn't taken into account the operations cost of the difference between the hybrid vehicle and a non-hybrid vehicle.

MR. SIMPSON:  Okay.  So I have got the two interrogatory responses in front of me.  I guess what you are saying is accurate.  I guess I struggle a little bit with the concept of reconciling the two.  They are two different facets of our overall environmental strategy.

Within the procurement piece -- and as I mentioned, I believe, yesterday, we are really in the early stages of how we will roll out the procurement changes, but the intent would be that, as you say, should costs be equal and other factors essentially be equal, we will provide some weighting to those with a better environmental standard and record.

As to how to reconcile that to the other side on the fleet, I am not sure exactly how to reconcile it, but the point on the fleet side is we are moving to hybrid vehicles.  We do know that there will be -- well, we know a few things.  There is a premium to purchase them in the first place, which we have talked about, on the capital side.  There is an operating savings that will accrue related to the cost of fuel versus the cost of electricity, pretty much irrespective of fluctuations in fuel price.  We do know there will be savings there.

The point I was making yesterday about what we don't have a full handle on yet because we haven't rolled the program out and had a lot of experience with it, is more on the maintenance side on the fleet, related to dealing with battery systems and others that we haven't had a lot of experience with yet.

So reconciling the two, I am not sure if I have or if I can, but essentially those are the two facets of our overarching environmental strategy that have been referred to in these exhibits.

MR. RUBENSTEIN:  So someone made an explicit calculation at some point that said the premium you pay on a hybrid vehicle makes sense because of the operational savings?

MR. SIMPSON:  No, I wouldn't take it that far, because there are some variables that we don't have a handle on and we would have to make assumptions on.

If we make one assumption, the payback, if you want to call it that, on the premium for the purchase from a cost/benefit perspective works.  If we make another assumption on fuel price and whatever it might be, it may not.

So the business decision has been that for -- based on those analyses and the more qualitative analysis about health and other factors, greenhouse gas emissions, we are proceeding with the environmental strategy.

MR. RUBENSTEIN:  So then when -- so you made the decision, when you were going to procure these vehicles, to say:  We want hybrid vehicles.  And then you looked at -- and then if you were applying the environmental part of procurement policy, then and only then, at that stage, you say:  Well, I think X vendor is better for the environment than Y, so we will choose to -- and if the costs are the same, then we will go with X; instead of you knew that you needed vehicles, and then you went to the next stage?

MR. SIMPSON:  We did not -- if I am coming back to your concept of reconciling the two, the procurement decision related to the hybrid vehicles was not tied to a new procurement policy related to similar costs and an environmental benefit.

That link has not been made at this point.

MR. RUBENSTEIN:  Okay.  Thank you very much.

Question No. 5:

"Please explain why the Applicant exceeded its budget by 750,000 in 2008 in the field expenditures."

And this is related to distribution enhancement expenditures.

MR. BENNETT:  In 2008, there was an item in the budget for in-the-field expenditures; there was no dollars budgeted for it.  The process was, for the areas as they are working on planned work or demand work, if they identified an issue, they would rectify the issue.

So for example, crews out doing work on insulators, there has been a package program given to them, and they identify that there are three more poles that the insulators are the same and deserve to be replaced.  They would go ahead and do that.  They would charge that to this discretionary amount.

Similarly in a demand project, there is a new customer.  The new customer needs service, whether there is a transformer to be hung on the pole or a cable to be run down the pole, the pole is in bad shape, the crew identifies it needs to be replaced.  They would go ahead and replace that and charge it to this category.

Since then, the process has changed in the sense that all of that type of activity, they identify it if they see something in the field.  It goes back to our asset planning group.  Our asset planning group then incorporates it into pole replacement or insulator replacement or other planned work, if appropriate, so...

MR. RUBENSTEIN:  Okay.  That's fine.

Question No. 6, this is in relation to the Barhaven T1 and T2.  I was just asking if you could please provide the details on the specific cost of this project.

MR. BENNETT:  Yes.  For Barhaven transformer replacement for 2011, the costs are budgeted at 1.32 million, and 2012, 1.7 million.

MR. RUBENSTEIN:  Thank you very much.

This is in relation to the estimated costs of the land for the administration and east operations building:

"Please provide evidence to substantiate the applicant's estimate of the per-acre cost of the two plots of land."

MR. SIMPSON:  The estimates in the evidence were essentially put together in 2010 by our own facilities staff, in conjunction with our realtors, who work with us on a consistent basis.

So the estimate at that time and what you will see in the evidence was for the administrative building to be three acres, at a cost of approximately $800,000 an acre, and the operation centre land estimated at five acres at a cost of approximately 300,000 an acre.

Again, those estimates came from our realtors.  Subsequent to that, as you have seen in the evidence, we have had further work done in the project by our project partners, CresaPartners.  And just to update, essentially, from their review of the numbers, they now believe the administrative building -- with their expertise in the area -- is more likely an estimate of about $700,000 per acre, while the east operation centre would be more likely about 400,000 an acre.

So some revisions to both; one up, one down, but essentially a fairly similar expectation.

MR. RUBENSTEIN:  Okay.  Thank you very much.

Question No. 8:

"Please provide details with respect to the Applicant's determination that the associated costs of administering residential security deposits now outweighs the anticipated benefits."

MS. SCOTT:  Hydro Ottawa didn't do a detailed, quantitative cost/benefit analysis.  We looked at it sort of high level qualitative.

In 2010 with residential deposits, we had about 8 million held, and taking into account the January 1st, 2011 code amendments, which would prohibit us from collecting from eligible customers, we estimated that that 8 million would drop to about 3 million.  So that was the first consideration.

We then looked at the fact that there would be an increase in administering the deposits with the new rules.  We did not quantify that, but just recognized it.  As Geoff pointed out yesterday, there was no increase in the bad debt expense.

So all in all, stopping the deposits tied in with our customer service strategy of providing better service to our customers.  So that's how the decision was made.

MR. RUBENSTEIN:  Thank you.

Question No. 9, this is with respect to your capitalization policy:

"Please provide a copy of the benchmarking analysis that you used and the KPMG review opinion referred to in the answer."

MR. SIMPSON:  Right.  So we have the KPMG review from August 16th, 2007, as a handout. 

MS. HELT:  We can mark the KPMG August 16th, 2007 document as Exhibit MT2.1.
EXHIBIT NO. MT2.1:  KPMG review dated AUGUST 16TH, 2007


MR. RUBENSTEIN:  You reference a number of benchmarking analyses that you had done internally in the answer?

MR. SIMPSON:  Sorry, let me flip to the answer specifically.

K2-4-1?  Right.

So the capitalization policy provided in the exhibit, of course, is our current capitalization policy; has been since 2007 primarily based on the work of the KPMG analysis that we have handed out.

The benchmarking that was done with other similar Ontario distributors was done back in those -- back at that time, mid-2007, through the KPMG report and also through some of our own analysis.

I don't have the specific documentation related to that, but through the KPMG review and our own internal review, there was discussions across other LDCs about where their capitalization was landing.

And this is the policy we continue to use today, subject to change with IFRS next year.

MR. RUBENSTEIN:  Okay.  Can I –- through the rest of the hearing process today, can I review this report and then come back to it if I have further questions, because of -- at the end when we are -- later on today?  Say, when Bill is asking the questions at the end, if I have anything further.

MS. HELT:  I would have no objection to that, so long as Hydro Ottawa doesn't object.

MR. CASS:  No, I think that's fine, as long as it can be done within the course of the day before we finish, yes.

MR. RUBENSTEIN:  For sure.

MS. HELT:  All right.

MR. SIMPSON:  I certainly don't object to questions.  I mean, we might have to see where it goes.  I mean, this is a policy --

MR. RUBENSTEIN:  I understand.  No, I --

MR. SIMPSON:  -- approved by the OEB, used for several years, so...

MR. RUBENSTEIN:  No, I fully understand.

MR. SIMPSON:  Okay.

MR. RUBENSTEIN:  The next question is, if you can pull up the exact interrogatory.  That's K4-4.1, No. 10.  This is Energy Probe 37.  I had asked a similar question, and I was pointed to this answer, which is a combination of a number of different answers.

And the question I had originally asked was just, the legal costs that you are projected to incur for 2012 seemed rather high compared for a non-cost-of-service-application year.  And in this answer you -- and I will paraphrase here -- you sort of say you might have another cost-of-service application.  Here are some reasons why you could have one, but you don't know, and you haven't made that decision yet.

My question is, is the budgeting for the legal expenses, is that taking into account that you -- if you have a cost-of-service application or not?

MS. SCOTT:  That's assuming we do not have a cost-of-service application.

MR. RUBENSTEIN:  Okay.  Moving on to the next question.  And this is with respect to K44.23.  With respect to table 2, please provide the factors that explain the forecasted increase.  And this is with respect to cost per employee based on the specific SLA.

MR. SIMPSON:  Right.  And the specifics of that table is costs per employee for purposes of allocating IT costs.  So the forecasted increase for 2012 is essentially based on the increased cost base for the IT program in 2012, part of that made up of transfer of four IT positions from the holding company to HOL, as has been covered in the evidence.


There is a total of 17 positions that are moving from the holding company to HOL.  Four of those are IT, which increases the costs to be allocated, and some of the other IT initiatives drawn out of the IMIT strategy that's in the document, increasing some of those operating costs.

So in total, the costs to be allocated have increased by just over $900,000, comprised of the staff and the other operating costs.  And from there it's a matter of allocating based on number of computers, which is how we do the IT allocation -- that's the metric -- multiplied by the weighted average cost of capital.  So the primary factor for the increase in the 2012 forecast over '11 is an increased cost base.

MR. RUBENSTEIN:  Thank you very much.

Moving on to the next one -- and I will sort of combine 12 and 13 into one question.  This is with respect to the transfer of those positions from the holding company to Hydro Ottawa.  And the information that you have provided in question 12 was sort of a sheet that said, here are the positions that have transferred, and I was looking for, and I assume there is some document that was provided internally, that was provided to somebody that said, here are the positions that we want to transfer the rationale for each of those positions, some sort of analysis that had to be undertaken about why they would have been transferred.  That is what I was looking for.

MR. SIMPSON:  There isn't -- essentially, as far as the documentation goes, what you have is the documentation.  What happened with this document is the review was taken -- a listing of positions that are in the holding company was taken to the executive team.  And while it wasn't a, put specifically, position-by-position review, but there was some principles established recommended to the executive team, which are listed at the top of the attachment there, which is effectively that executive leadership and their associated executive assistants and their administrative support, meaning our highest level of our executives that provide, you know, strategic leadership would remain in the holding company, along with their executive assistants, and then for the others -- levels of senior -- senior management, if you want to call it that, directors, where they were each reviewed, not with a lot of documentation, but each reviewed sort of one by one, and -- directors and managers, and where the philosophy taken at the time is as it says there.  Where positions were primarily supporting the LDC, they would remain in the LDC.  If they don't fall under the banner of strategic executive leadership, and they are primarily supporting the LDC in our enterprise, we would move them to the LDC, and essentially that's where the 17 positions listed there fell in.

MR. RUBENSTEIN:  So there is no document, firstly, that sort of defines what primarily supported -- I mean, it's a big move.  I think we can recognize that.  I am just trying to understand specifics of the basis, how it happened, how those decisions were made.

MR. SIMPSON:  There is no -- there is no further document to what you have here.  It was more a matter of defining some principles through the executive discussion, recommending some principles, and then having the discussion about what fits where on a position and sort of grouping basis and, to some degree, position by position, depending on how the discussion went.  And in the end the 17 positions were recommended to move.

MR. RUBENSTEIN:  And the principles you speak of are just those ones at the top of the page.

MR. SIMPSON:  Correct.  Correct.

MR. RUBENSTEIN:  Okay.  Thank you very much.

Technical Conference Question No. 14.  I am just asking if there was any revenue-requirement impact on this regulation that was made under the Electricity Act at the end of the month of August.

MS. SCOTT:  No material impact.

MR. RUBENSTEIN:  We can move on to 16, as 15 was answered already.  Why does the applicant feel it's appropriate to increase the MSC for those classes that are above the Board's upper bound?

MS. SCOTT:  Our understanding of the Board's direction is that an LDC was not to increase the fixed charge above the ceiling and that there was no need to bring the fixed charge below the ceiling, but there was no direction that we could not increase the fixed charge if it was above the ceiling.

There is no specific instruction that we cannot increase the fixed charge if it is above the ceiling.  And so in order to keep the fixed variable split the same, we have applied the percentage across all fixed charges.

MR. RUBENSTEIN:  Just some follow-ups to a couple of Technical Conference questions that were asked yesterday. In follow-up to the Consumer Council's Technical Conference No. 10, which was just in respect to, they had asked if any sort of business analysis or quantitative analysis had been taken with respect to the customer services strategy initiative, and the answer was no.

Was a cost-effectiveness analysis undertaken about what is the most cost-effective way to reach the goal that you want?  What was the best method in doing so?

MR. SIMPSON:  Well, I don't know that I will have a document that I can provide you that will demonstrate that, but in any initiative undertaken, especially one of this magnitude, with the customer service strategy, every attempt is made to implement in the most cost-effective manner possible. 

MR. RUBENSTEIN:  It seems to me that sort of generally we try to find the cheapest way to reach any sort of goal, but --

MR. SIMPSON:  The most cost-effective way.  The most cost-effective way.

MR. RUBENSTEIN:  Was there a specific analysis undertaken about how to do that?

MR. SIMPSON:  Well, there are a number of different factors within the strategy itself.  Each of them has rolled out on its own timeframe and in its different manner, whether it's internal training or external consultants providing specific expertise. 

So within each of those, yes, there is business decisions made about the most cost-effective manner to implement the recommendations of the consultant's report. 

MR. RUBENSTEIN:  Thank you very much.  Those are my questions.

MR. SIMPSON:  Thank you.
Questions by Mr. Shepherd:

MR. SHEPHERD:  Hi.  My name is Jay Shepherd.  I am also counsel for the School Energy Coalition; we have a tag team today.

I am actually supposed to ask the IFRS questions, but I do have one question that's not IFRS that I want to follow up on.

You were asked some -- sorry, you can't hear me?

MS. SCOTT:  Not very well.

MR. GRUE:  Not very well, no.

MR. SHEPHERD:  Oh.  Mumbling in my beard, perhaps.

I wonder if you can turn to -- you were asked questions yesterday about the grid promissory note by Mr. Ritchie; you recall that?

MR. GRUE:  Correct, yes.

MR. SHEPHERD:  Can you take a look at the note, just open it up?  Do you have that?

MR. GRUE:  I do.

MR. SHEPHERD:  So this note was backdated; right?

MR. GRUE:  It was taken into account for 2009, so you can call it backdated.  We didn't do any debt issuances until December of 2009. 

MR. SHEPHERD:  Well, okay.  You avoid the question, but I guess look at the signature lines.

It says here:

"In witness whereof, Hydro Ottawa Limited has duly executed this grid promissory note on the date first appearing above."

Which is January 1st, 2009.

Now, that's not actually true, is it?

MR. GRUE:  The date it is actually executed isn't on here, but it wasn't executed on the 1st of January, no.

MR. SHEPHERD:  Can you undertake to advise us the exact date and place that this was executed?

MR. CASS:  Why does that really matter?

MR. SHEPHERD:  Well, Mr. Cass, you will be aware that if you sign a document saying it was signed on one day and it was actually signed on another day, that's a problem legally.

MR. CASS:  So are you going to be taking some position that it's an invalid note, or something?

MR. SHEPHERD:  I don't know yet.  I don't know what position we are going to take, but I want to find out when it was actually signed.

Right now, the evidence we have is it was signed on January 1st, 2009.  Yesterday somebody said it was signed early in 2009, and then somebody said:  Oh, no, it was signed around the time of the first advance.

So we don't know when it was signed; I would like to know when it was signed.

MR. CASS:  Well, we will take it under consideration and let you know whether we think it's appropriate to respond to that. 

MR. SHEPHERD:  Okay.  Do we have to give that a number?


MS. HELT:  It's an under-advisement.  It's a question that's been taken under advisement by Hydro Ottawa with respect to the request made by School Energy Coalition to find out when the grid promissory note filed yesterday as Exhibit MT1.11 was actually signed and where it was signed.

I am not quite sure of what our numbering protocol is for under advisement.

MR. SHEPHERD:  Well, in the past, we have often given it a number, and the wording of the undertaking is we will determine whether it is prepared to answer this question.

MR. CASS:  I think that's fine, Maureen.

MS. HELT:  All right.  So then we will give it a number, MT2.2 (sic).

UNDERTAKING NO. LT2.1:  TO ADVISE WHEN AND WHERE THE GRID PROMISSORY NOTE, EXHIBIT MT1.11, WAS SIGNED; APPLICANT TO CONFIRM WHETHER IT IS PREPARED TO ANSWER THIS UNDERTAKING.

MR. SHEPHERD:  And then just to follow up on that, can you tell us what the purpose was of using the January 1st date, given that there were no advances prior to December?

MR. GRUE:  There wasn't any specific reason, I guess, to use the January 1st date.

We were working on this process to come up with a grid note, rather than we were issuing specific notes for every draw previous to that.  So we were trying to make a more efficient process of, you know, every time we make a draw that we could use this type of grid promissory note.

So during 2009, we were working on that, and I guess that's why the timeframe stretched out over the course of the year.  And the purpose of this, as I say, as to the timing of it is to coordinate also with our renewal of our bond issuance in 2015.  So this was to accommodate the draws that we anticipated would be required up until that time, and we would actually be doing external debt issuance and roll this long-term debt over into the debt we issued at that time.

MR. SHEPHERD:  That all -- I understand all of that, but that would also be true if it was dated December 21st, 2009.

What I am trying to understand is what's the purpose of the backdating, what different effect happened because you dated it January 1st as opposed to December 21st or whenever it was signed.

MR. GRUE:  I don't think it had any effect.

MR. SHEPHERD:  Okay.  Well, I am going to ask you to undertake to advise why it was backdated.

MR. CASS:  Well, we can include that in the same category of under advisement.

MR. SHEPHERD:  All right.  I would like a separate number for that, if I could, please.

MS. HELT:  We can provide a separate number for that.  And just to clarify, I had referenced the undertaking as MT2.2, but it really is an undertaking, not an exhibit, so it should have been referred to as LT2.1.  That was to provide the date when Exhibit MT1.11 was signed, that being the grid promissory note.

And undertaking LT 2.2 will be the next undertaking, which falls under the same category as LT2.1 with respect to being taken under advisement.
UNDERTAKING NO. LT2.2:  to ADVISE WHY THE GRID PROMISSORY NOTE, EXHIBIT MT1.11, WAS BACKDATED; APPLICANT TO CONFIRM WHETHER IT IS PREPARED TO ANSWER THIS UNDERTAKING.

MR. SHEPHERD:  Okay.  And that is to advise -- if you are willing to do so, to advise why the note was backdated.

And that's my questions on that.  Now I am going to turn to IFRS.

And my first question, which is our Question No. 17, is -- there is a reference in Staff 79 to a capitalization policy, and it looked to me like it -- the read, if you read it, it actually means your depreciation and amortization policy; is that correct?

MR. SIMPSON:  Well, the referenced item in Exhibit B1-3-1 is, in fact, titled "Capitalization Policy" so essentially that is our capitalization policy.  It does touch on amortization and depreciation, as well, if you look at the policy itself.

So the remainder of the response to K1.11-1-1 is referencing our current amortization policy. 

MR. SHEPHERD:  Okay.  I guess I don't understand how this is a capitalization policy.  Capitalization is where you take overhead and you turn it into capital, right?  This has nothing to do with that?

MR. SIMPSON:  Well, it -- this policy essentially covers both.

MR. SHEPHERD:  I see, I see.  Okay. 

Then you filed an estimate of useful lives report; this is the attachment of that IR response.  We have a number of questions on that.  A couple of them are just confirmations.

The fact that you have to file in IFRS, but all your information is in CGAAP, as you saw yesterday and as I am sure you have seen through the process, confuses everybody, and we will all have to go through it for a year.

So I just want to clarify some things so that we know that we are always comparing apples to apples.

So the first one is:  Can you confirm that throughout the application and the interrogatory responses, it's the old useful lives that are being used for the purpose of calculating rate base, depreciation, cost of capital, revenue requirements and rates, with the exception of Exhibit J?

MR. SIMPSON:  That's confirmed.

MR. SHEPHERD:  Okay.  And then can you also confirm that the amounts for which you are seeking approval from the Board for those items -- that is the revenue requirement you build up and the rates you have built up -- are the figures based on the new useful lives, which are referred to throughout as the IFRS lives?

MR. SIMPSON:  That's correct, and that is our understanding of the process.  The application is put together under CGAAP, and then the J exhibits essentially translate the CGAAP requirements into modified IFRS.

MR. SHEPHERD:  I am not in any way being critical.  I am just trying to be clear --

MR. SIMPSON:  I know.  I want to be clear about it too, because we are all there.

MR. SHEPHERD:  All right.  We've asked you to recalculate tables 1 through 3 of J2.1.1, and the continuity schedules in J2.1.2, and tables 1 through 6 of the Energy Probe IR Response No. 64, using the typical lives set out in the Kinectrics report instead of the IFRS lives.  Have you been able to do that?

MR. SIMPSON:  I have not been able to do that at this point.  I have issues with doing that.  The Kinectrics report, both very clearly from the OEB in their cover letter related to it and within the documentation of the Kinectrics report that was received, and as noted in K11.1.1 on page 2 in that response, it has been very clearly set out that these are guidelines for the individual LDCs that may prove helpful.

As we covered yesterday, where our study is -- has varied from the typical useful lives or even outside of the range within the Kinectrics, there are two or three examples of that, and we spoke to those yesterday, which is again the OEB sort of rules of how they lay it out.  There may be questions at that time when it happens.

But in fact, to rerun the numbers using specifically the Kinectrics useful lives and only the Kinectrics typically useful lives, it's a very difficult exercise to do, for one, but I don't even really see that as the point.  I see it as an issue that, it's really not compliant even with IFRS.

I mean, IAS16-57 indicates that:

"The useful life of an asset is defined in terms of the asset's expected utility to the entity."

And further in IAS16-51:

"The useful life of an asset shall be reviewed at least each financial year end."

So these are moving numbers that each utility, each entity, is responsible for reviewing with their engineers, with their accountants, each year.  The concept of rerunning the numbers on the typically useful lives of the Kinectrics report would essentially be going back to prescribed rates, and I know that's not the intention of the OEB.

I don't see the relevance of us running those numbers when they will not be what we will use.  They are not compliant with IFRS.

MR. SHEPHERD:  Well, the Board will decide what you will use, right?  And there may be a debate about it.  And I understand that you have points about what the appropriate rule is, but people may disagree with you, right?

MR. SIMPSON:  People may disagree, and we have had those discussions here already yesterday, or disagree or want clarification.  I don't believe if the Board's intent is to be compliant with IFRS they will decide that the typical useful lives of Kinectrics is what will be used across the industry.

MR. SHEPHERD:  That may well be true, but I'm not -- I don't want to argue that with you today.  This is not the forum for that.  What I -- all I want to do is get evidence for the Board to understand what the impact is of choosing one or the other.  That's why we have asked for this information, so that the Board will know the impact of choosing IFRS lives versus typical lives.  It's a normal question to ask.

MR. CASS:  Jay, particularly because it's a difficult thing for them to do, I don't think Hydro Ottawa is prepared to go to that amount of effort for the purpose that you have described.

MR. SHEPHERD:  You know we are going to have to move -- make a motion on this, and you know we are going to win.  It's pretty straightforward.  The Board always orders the impact of judgment calls to be calculated, always.  All right.  So that's a refusal.

MR. SIMPSON:  That is a refusal.

MR. SHEPHERD:  Okay.

MS. HELT:  Jay, do you want to just specifically set out your question so it is clear on the record.

MR. SHEPHERD:  It is as written in 18(c) in our written materials.

So then, (d), I assume you are going to refuse (d) as well, which is, please advise the impact on test-year revenue requirement and deficiency of using the typical lives, as opposed to the IFRS lives.

MR. SIMPSON:  It's not applicable, based on the response to (c).

If I could just speak before this goes further related to the difficulty of running the numbers.  We --

MR. SHEPHERD:  I think you have already refused.  I think we are done.

MR. SIMPSON:  Okay.

MR. SHEPHERD:  Your counsel will have an opportunity to make arguments on the motion.

I am moving now to table 1 of Staff No. 80.  And this is a comparison of the useful lives.  Is that right?  Maybe I am wrong.  No, sorry.  Wrong one.

MS. SCOTT:  It is the directly attributable.

MR. SHEPHERD:  It is a breakdown of the overhead costs.  And so first that we have the confirmation that the OM&A capital and the revenue-requirement figures and the rates based on those figures that are contained throughout the application use the CGAAP figures from this table and not the modified IFRS tables, right?

MS. SCOTT:  That is correct.  All exhibits except for J are in CGAAP.

MR. SHEPHERD:  But what you are actually asking for approval for -- I am sorry to go over it again, but I just want to make sure I have the reference on the record -- is the modified IFRS calculations.

MS. SCOTT:  That's correct.

MR. SHEPHERD:  Okay.  Good.

So I wonder if you could just run through these and just briefly tell us why each of these costs are considered to be directly attributable or not directly attributable.

MR. SIMPSON:  Sure.

MR. SHEPHERD:  I don't need a long explanation, just something to understand why some are Y and some are N.

MR. SIMPSON:  Sure.  Well, it could be a long answer, as I believe you will understand, but essentially the standard for IFRS is that the costs need to be specifically attributable to an asset, directly and specifically attributable to an asset.  In our prior capitalization policy we had a number of overhead-related costs, facilities, HR, IT, executives, finance, corporate costs, regulatory costs, which were allocated based on an overhead percentage to the capital program as a whole.

Under IFRS those are essentially not considered directly attributable.  Those are kind of the simple answer, those are out.  Then many of those, as you will see, if not all of those in the table in the exhibit, are the ones that come across with an N.  They're just not --

MR. SHEPHERD:  SO that's things like HR and IT and --

MR. SIMPSON:  Correct.

MR. SHEPHERD:  -- the executive functions, things like that.

MR. SIMPSON:  Yes, as listed in the table there down the left:  Facilities, HR, IT, chief operating officers, et cetera, which in the past, based on the document that we distributed earlier, had a percentage allocation to the capital program for their time.

MR. SHEPHERD:  Now, in each of these cases, some part of it may actually be directly attributable to an asset.  For example, if you have to have some people work overtime in the IT department because they are running a model for a -- to build an asset, you can charge that to the asset, right?

MR. SIMPSON:  Under the specific rules of IFRS, if that was the case, yes, we likely could.  If --

MR. SHEPHERD:  But you don't actually do that.

MR. SIMPSON:  We don't intend to do that as we go forward.  You will see those under supply chain engineering and supervision, whereas we did go through those factors.  We are making a case to our auditors, essentially, that a portion of that time is directly attributable, while not all of it, from the previous capitalization policy, but essentially, no, our -- for the overhead costs, they are not directly attributable to a specific asset.

There may be a specific example somewhere along the way we might be able to point to and argue, but as a general rule finance, HR, IT are not considered directly attributable to an asset under IFRS.

MR. SHEPHERD:  Okay.  And then with respect to the ones that are partially included under IFRS, I am particularly interested in engineering and supervision, because I would have thought your engineering department, that everything they do is on a project.  Isn't that the sort of management system you use in engineering?

MR. BENNETT:  I am an engineer, not an accountant, so right now all of the engineering is considered capital.  It's allocated as a capital -- as an engineering burden, but the reality is that when you look at IFRS a lot of the engineering time is looking at the future and not working specifically on an asset.

So for example, the engineers are putting together the asset management plan, putting together the five-year program, but they are not necessarily working actually on pole replacement or transformer replacement.  They are not charging their time directly to those projects.  And the way it was described to me, they need to be working directly on the installation of the asset.  So...

MR. SHEPHERD:  The way you manage the engineering department is on a project-management basis, right?  Engineers allocate their time to projects, true?

MR. BENNETT:  Well, no.  Let's be -- maybe I wasn't clear.

So there is two groups in my group: the engineering side, I will call it, the asset management group, and the design group.

The design group charge their time.  They manage all the projects.  There are a number of engineers within the asset management group that work on specific large projects like the stations capacity projects, but the majority of the engineering asset management group works on the planning side, so the capacity side, the reliability side, the sustainment side, putting together plans and programs that the others execute.

MR. SHEPHERD:  So most of your engineering department, then, doesn't work on doing -- and I don't mean this in a negative way -- doesn't work doing conventional engineering activities, in the sense of designing things or working on the specific projects; the majority of your engineering department's work is planning-oriented stuff, right?

MR. BENNETT:  Yes.  That's true.

MR. SHEPHERD:  Okay.  And the same, I guess, is then true of supervision?  It works the same way?

MR. BENNETT:  Supervision is primarily in two categories within this context, so the supervision, for example, of the designers that I was previously talking about, and then the supervision of the construction group.

Again, the supervisors aren't filling out time sheets directly, and when we looked at the analysis, so they absolutely participate in the supervision over some of the project activity, but there is also significant other activity that they are involved with as supervisors, whether it's OM&A-type maintenance activity, operating activity, training activity, all of that type of stuff.

MR. SHEPHERD:  OM&A and training and operating stuff would have been not capitalized before anyway, right?

MR. BENNETT:  Well, the supervision burden is based on the hours that are charged.  So all of the capital hours and all of the operating and maintenance hours have a supervision burden.

So the split was based on how much dollars are spent in those categories, so depending on which supervisor you are, maybe most of your time would be covered in supervision burden on capital or maybe most would be covered on maintenance, operating-type activity.

MR. SHEPHERD:  What I am trying to understand is:  Under what circumstances would a supervisor in this context, involved on the capital side, not be supervising on a project?

MR. BENNETT:  Well, I will give you an example, which happens all the time, right?

Customer calls and says:  I want to build a Tim Hortons.  I am looking at the corner of Bruce and Spruce here.  Can you come and take a look?

The supervisor goes out, meets with them, looks at the project, to sees what he is going to have to do to get that project to go, but the project doesn't happen this year.

MR. SIMPSON:  And possibly never happens.

MR. BENNETT:  It may never happen, but...

MR. SHEPHERD:  Okay.  And one other thing on this.  I didn't see fleet in here.  Your fleet charges are treated as directly attributable, right?

MR. SIMPSON:  The fleet charges are treated as directly attribute to capital projects when they are.

MR. SHEPHERD:  And that's at your fleet burden rate?

MR. SIMPSON:  Yes.

MR. SHEPHERD:  And that's approved by your auditors?  They said that's okay?

MR. SIMPSON:  Yes.

So just on that point, the table in the exhibit here -- it sort of speaks to the engineering issue, as well -- is just what we have previously allocated as overhead through the capitalization policy.

MR. SHEPHERD:  Sorry, I don't understand this.

MR. SIMPSON:  So fleet was not considered overhead.  Much of Mr. Bennett's group specifically on engineering projects was not considered part of an engineering allocation.

This is the engineering allocation piece that has been reviewed and reduced under the IFRS rules.

MR. SHEPHERD:  Oh, see, that makes it a lot more understandable.  I thought 4.4 was the total engineering cost, and then it seemed like not very much of it was going to projects, but you already had some that was being charged directly to the projects in the first place.

MR. SIMPSON:  And will continue to be.

MR. BENNETT:  Yes.

MR. SHEPHERD:  And that's the bulk of it?

MR. SIMPSON:  Yes.

MR. SHEPHERD:  Okay.  That makes that a lot more easy to understand.

Then I have a couple of questions on Staff No. 90.  And you were asked questions about this yesterday, as well, and I have read them and I still don't understand.  That's why I am following up.

And what you're doing is, because the capital cost of a project is going down because of lower overhead allocations, the calculation of the contribution goes down, because you are starting with a lower number so you end up with a lower number, right?

MR. SIMPSON:  Correct.

MR. BENNETT:  Correct.

MR. SHEPHERD:  Okay.  What I don't understand is those overhead costs that were previously allocated as part of the capital cost, they were -- they are, in fact, something that you have to spend in order to connect the customer, for example, if that's the capital contribution you are talking about, so why aren't they included in calculation as OM&A rather than as capital?

MR. SIMPSON:  They are -- I just want to be clear on which calculation you are asking about.

In the calculation of what we are applying to the capital asset, that is what we have just been going through.  So the capital asset, the cost for the capital asset will be reduced by the fact we have a change in our capitalization policy under IFRS.

That's the answer to the calculation for the cost of the asset.

MR. SHEPHERD:  No, sorry, that's what I -- that's the part I am having difficulty understanding.

The whole point of a contribution is that the money you are spending is not economic, so the customer has to give you a cheque, right?  In essence?

MR. SIMPSON:  The customer needs to pay for the asset being...

MR. SHEPHERD:  Or pay some part of it?

MR. SIMPSON:  Yes.

MR. SHEPHERD:  Not all of it, right?  Some part of it?

MR. SIMPSON:  Yes.

MR. SHEPHERD:  And it's based on whether you are going to recover enough on the asset to cover its capital cost, and if you are not, they have to pay the difference, in essence?

MR. BENNETT:  Just to be clear, so the part that we are talking about specifically is not as part of the OEB, where we do a calculation.  This is on the customer's property.

So my Tim Hortons, you're going to install a pad mount on the property.  It's $50,000 for the pad mount.  The customer pays me 100 percent for that cost.

In IFRS, the costs have come down, from the point of view of all of the burden that we are talking about is not there anymore.

So now my $50,000 pad mount job is a $45,000 pad mount job.

MR. SHEPHERD:  But your costs haven't actually come down, right?

MR. BENNETT:  The capitalized portion, right?  So this is a contributed capital project.  You pay me 100 percent for the contributed capital.

MR. SHEPHERD:  What I am trying to understand is:  You are still spending the same amount of money; it's just some of it is now being called OM&A rather than capital, right?

MR. BENNETT:  Yes.

MR. SHEPHERD:  So why isn't the customer being required to contribute to the OM&A component that you already -- that you know is part of the cost, the real cost?

MR. BENNETT:  They contribute to the capital portion.

MR. SHEPHERD:  I ask why aren't they contributing to the real cost.

MR. BENNETT:  Well, today, they are not contributing anything over and above the capital portion of the cost, so we are applying the same principle tomorrow, and so...

MR. SIMPSON:  The customer is billed the underlying cost of the asset, and the costing rules are changing, and we will continue to bill the customer the underlying cost of the asset.

MR. SHEPHERD:  All right.  Have you looked at whether the customer should pay some of the related OM&A?

MS. SCOTT:  If I may, in the economic evaluation formula, they will.  When the OM&A, the incremental OM&A goes up, so they will end up paying part of that through the formula.

MR. SHEPHERD:  Okay.  Well, then, why would the capital contributions go down?

MS. SCOTT:  Because our -- we use the last approved incremental OM&A in our formula.  So it will take some time to work this increased incremental cost.  Like, right now, we don't base our formula on the non-approved, new OM&A.

MR. SHEPHERD:  So what it means is that for 2012, you are stuck with 2011, which is CGAAP OM&A?

MS. SCOTT:  Actually, 2008.  It was our last approved.

MR. SHEPHERD:  Well, 2008.  There you go.

MS. SCOTT:  Yes.

MR. SHEPHERD:  But starting in 2013, you are actually going to get these capital contributions back, right?  They will go back up to the previous number, because you will have the new OM&A number to work with?

MS. SCOTT:  I am not sure they will go back immediately, like, it will be a one-for-one, immediate going back totally.

What you use for the OM&A is an average incremental cost for the class, so whether that's going to account for all of -- in that particular class, I can't say.

I think the contributions will start to go back up.  Whether they would go back up to what they were, I can't say.

MR. SHEPHERD:  That's interesting.  Okay.

And the final question on IFRS is -- and you may have answered this yesterday.  I am not sure.

We have referred to three exhibits, Energy Probe 63, A2.1.2 (Updated) table 1, and attachment H updated.

And so the first question is those exhibits are in CGAAP, yes?

MS. SCOTT:  That is correct.

MR. SHEPHERD:  Can you provide table 1 and attachment H in modified IFRS?

MS. SCOTT:  We have provided attachment H, which is the revenue requirement work form, in MIFRS.  It's attachment AW in the updated attachments.

And because the Board Staff has asked us to do that again, there will be another -- under LT1.9 we will be providing it again in the format, which doesn't change the numbers.  They just asked for the format to change.

MR. SHEPHERD:  Okay.  And so can you provide us with an explanation, sort of a line-by-line, of the differences between the two?  Just, what I would like you to do, if you could, is give us the two sets of information side by side with an explanation of the differences.

MS. SCOTT:  Of the two revenue deficiencies?

MR. SHEPHERD:  Yes, the two revenue-requirement work-form calculations.  So you have -- you have the one that is -- CGAAP has one deficiency and has a number of components, and the other, and side by side they will show the differences, right?

MS. SCOTT:  Right.  But the --


MR. SHEPHERD:  And we can do it, but it's better if you do it.

MS. SCOTT:  -- the difference in the revenue requirement between CGAAP and IFRS is .1 million.

MR. SHEPHERD:  2.1, yes.

MS. SCOTT:  No, .1, between the --


MR. SHEPHERD:  Okay.

MS. SCOTT:  -- updated IFRS -- MIFRS and CGAAP.

MR. SHEPHERD:  Okay.

MS. SCOTT:  Oh, sorry, okay.  It is the 2.1.  Okay.  I see what you are asking for.  Yes, I can do that.

MR. SHEPHERD:  You can do that?  Thanks.

And you haven't provided us with table 1 --


MS. SCOTT:  No, as I said, we did the whole application in CGAAP, and then only did what was required in MIFRS to get the revenue requirement.  So, no, we did not present the revenue deficiency in MIFRS, but I can do that, yes.

MR. SHEPHERD:  Okay.

MS. SCOTT:  So I can -- that will be an undertaking.

MS. HELT:  So we will note that as Undertaking LT2.3, to provide an explanation of all the differences between the CGAAP and MIFRS versions of the --


MS. SCOTT:  Revenue deficiency. 

MS. HELT:  -- revenue deficiency, correct.

MR. SHEPHERD:  And provide an updated table 1 in MIFRS.

MS. HELT:  And to provide an updated table 1 in MIFRS as part of that undertaking.

MS. SCOTT:  Yes, well, that will be -- yes.

MS. HELT:  Thank you.
UNDERTAKING NO. LT2.3:  TO PROVIDE AN EXPLANATION OF ALL THE DIFFERENCES BETWEEN THE CGAAP AND MIFRS VERSIONS OF THE REVENUE DEFICIENCY AND TO PROVIDE AN UPDATED TABLE 1 IN MIFRS

MR. SHEPHERD:  Thank you very much.  And that's all the questions I have. 

MS. HELT:  It's now 10:30.  We can either take a short break if you would like before we start with Mr. Harper's questions, or if you are prepared to continue on, and if the court reporter is all right with that, I would suggest we do that.

MR. CASS:  It looks like people are quite prepared to carry on, Maureen. 

MS. HELT:  All right then.  Proceed, Mr. Harper.
Questions by Mr. Harper:


MR. HARPER:  Thank you very much. 

My first question refers to -- was VECC Interrogatory No. 6, which was Interrogatory No. 10 under issue 1.2 in K1, and the first part of that question -- and this deals with your asset management plan and the use of service quality indicators, and the first part was, are there any service quality indicators or line loss targets utilized as metrics in developing the asset management plan or measuring its success?

MR. BENNETT:  So the asset strategy, we have a description in the plan under section E, the asset management policy strategy and process.  The process consists of scoring methodology that aligns the asset management objectives and the overall strategic objective of the corporation.  The performance of the plan's implementation is measured through service quality indicators such as reliability, SAIFI, SAIDI.

And with regards to the reliability performance, Hydro Ottawa's emphasis has been on managing the aging infrastructure, and in particularly replacing end-of-life equipment prior to failure.

So there are many external factors that impact SAIDI/SAIFI.  This year is a good example for us.  We have had some significant storms, foreign interference, you know, adverse weather, et cetera.  We can speed response, but we have difficulty controlling those activities.

So our focus is on defective equipment specifically.  That's the primary focus.  So sustainment capital replacement programs have been directed towards projects that have a positive impact reducing outages associated with defective equipment.  So we review outage information in the various categories, and specifically in failing equipment.  We review a three-year rolling average of customer interruptions.  And in the failing-equipment category since 2005 we have seen about a 20 percent drop in customer interruptions in the three-year rolling average. So we are taking credit for that.  So that's our process, if you like.

MR. HARPER:  Maybe if I can put it in my own words to help me understand it --


MR. BENNETT:  Sure.

MR. HARPER:  -- because when we looked at it, as the original question asked, we looked at the Board's reliability measures at the very global or aggregate level and couldn't see a lot of favourable movement, if I can put it that way, or there were ups and downs, and I guess what you are saying is you take those aggregate reliability measures and you disaggregate them and focus on the parts of the reliability measure that you have more direct control over, like how much of the -- how much of the measure is the contribution of, say, defective equipment or breakdowns of equipment, and you look at those portions and, focusing on that, you can try and use trends in that to sort of identify whether your asset management plan is being effective or not.

MR. BENNETT:  Absolutely.  And just as a little bit of an example, so the asset management plan is an evolving process, and this year we have undertaken, because of a lot of wind storms and so on, we have undertaken a look at forestry management and how can we be more effective in forestry management in reducing outages, which is a little different than our sustainment program, but it's in cooperation with our construction side of the house.

MR. HARPER:  Well, I don't precisely recall, and I don't have the exhibit open in front of me here, whether your asset management plans -- I know they had multiples graphs in there focusing on SAIDI and SAIFI and those things at the aggregate level, whether there was any specific information in there focusing on the performance of those measure at the disaggregate level, looking specifically at the components that you say you use, in terms of looking at trends on your system and whether things are getting better or worse and how much effort you have to put into these sort of things.

And I guess what my question is, if that detail is in the asset management plan, that's fine.  If it isn't, would it be reasonable for you to sort of give us sort of a, say, going back, say, 2008 or, you know, going back over the same period, where the reliability measure's shown in there, and give us sort of the extraction of what are the sub-reliability measures that you use, like, you know, the, I guess the contribution of the defective equipment to SAIDI or SAIFI over those years so we can see -- we can see the performance at the same disaggregate level that you are looking at it for your own planning purposes.

MR. BENNETT:  Sure.  In the plan there is some information, illustrative information, I will call it.  The graphs aren't necessarily obvious, but where we track the different categories.  But, yes, we can put together some information that will support that.

MR. HARPER:  Okay.  That would really be useful.

MS. HELT:  So then Undertaking LT2.4 will be for Hydro Ottawa to undertake to provide detail of the asset management plan going back to approximately 2008 or so describing the sub-category of -- or the sub-reliability measures that were taken into account when putting together the asset management plan.

MR. BENNETT:  Yes.
UNDERTAKING NO. LT2.4:  TO PROVIDE DETAIL OF THE ASSET MANAGEMENT PLAN GOING BACK TO AROUND 2008 DESCRIBING SUB-RELIABILITY MEASURES THAT WERE TAKEN INTO ACCOUNT WHEN PUTTING TOGETHER THE ASSET MANAGEMENT PLAN

MR. HARPER:  Thank you.  And I think that covers off (a), (b), and (c) of my first question there.  Maybe if I can just go to (d).  It says:

"Has Hydro Ottawa identified pole failure as a source of service quality degradation?  And if yes, provide a study supporting how changes to pole replacement program will improve service reliability."

MR. BENNETT:  So I guess it's a similar explanation within the category of failing equipment, pole and pole attachments is approximately 20 percent, varies from year to year a little bit, but approximately 20 percent.  The asset management plan -- the original asset management plan, which was focused specifically on sustainment activity, if you like, replacement of asset activity, identified significant ramping-up, for example, of pole replacement requirements.

So from an illustrative point of view, the City of Ottawa, the old City of Ottawa, the old portion of the City of Ottawa, largely was built up, if you like, post-war, so 1945 through 1970, all of that was overhead.  Subsequently a lot of that development was put in underground, if you are talking about residential and suburban type area.

So we have 50,000 poles on the system.  I won't use the IFRS number of 45, because my math is not that good, but if I round it to 50 years, that's 1,000 poles a year, and we are in the range now of the majority of poles getting into that 50 years of life.  We have never done close to 1,000 poles a year.

And so the -- being a large part of the impact of failing equipment, being a large part of our distribution system, the reality of a pole failing is a little bit more dramatic than a cable failing, typically, and this past summer with wind storms and so on we had actually more poles physically fail and fall down than we had through the ice storm in 1998.  So poles is definitely a concern for us.  We are still not getting close to the thousand in our proposal, but we are trying to ramp up to a number that will keep us in good position and maintain those SAIDI/SAIFI numbers.

MR. HARPER:  Thank you very much.

I think my Question No. 2 was actually responded to yesterday during some of the questions that were asked by the earlier intervenors.

So if we move on to Question No. 3, which refers to Energy Probe Interrogatory No. 8, which was under Issue 2.1 and was the one that Hydro Ottawa numbered as No. 5D.

And looking at that –- and this has to do with the property on Maple Grove and the splitting of the property.  I think half of the property -- half -- part of the property has come under rate base, and part of the property is left in rate base, if I understand it correctly.

MR. SIMPSON:  Sorry, I didn't realize this question was about Maple Grove.

MR. HARPER:  Well, isn't that --


MS. SCOTT:  That is correct.  For Maple Grove, we have split the two properties in one --


MR. HARPER:  I apologize.  Maybe I copied the wrong one here.  I apologize.  I sort of have the wrong -- I have the wrong reference here, and I don't have the -- I don't have my main materials here, so maybe it is best just to pass on that.  I apologize for that.  Or maybe I can look at it at the break and come back and figure out where I was, where I have gone off topic.

MR. BINETTE:  It is Exhibit K2, 2.1, Interrogatory 3 that relates to 90 Maple Grove; is that what you are looking for?

MR. HARPER:  I think would like to come back, and maybe to save time, I will see if I can pursue that a little bit later on, sort of thing. 

In your response to VECC No. 8, you made reference to a cost performance index, I believe.  I am sorry, we had a mis-numbering here of the VECC number here, but it was Interrogatory No. 23 under Issue 2.1.

There was reference to a cost performance index that you use in your processes, and we were just wondering if we could get a little bit more details in terms of what the calculation methodology was for that.

MR. BENNETT:  The cost performance index that the asset management group uses is basically budgeted cost of work performed over the actual cost of the work performed.  They use that in assessing the effectiveness and then looking at for estimating in future years, updating the estimate numbers that they use.

MR. HARPER:  So but that would be cost over budgeted for the same work?

MR. BENNETT:  Yes, exactly.  Yes.

MR. HARPER:  Because sometimes you don't do the same work during the year as what you actually planned to do?

MR. BENNETT:  No.  And they are doing that specifically for the projects and programs they so they identified.  So they have one for schedule.  So did we -- the schedule that we estimated and compared to the actual schedule, and the costs that we estimated compared to the actual cost.

MR. HARPER:  Okay.  Fine.  Thank you very much. 

The next question I have here deals with under Issue 2.1, again, Interrogatory No. 26, which is your response to VECC IR No. 11.

In that, you provided a -- I guess an IM and NT plan, and on the last page of that plan, there was sort of a detailed listing of projects and costs for those projects for 2010 and -- excuse me, 2011 and 2012.

And I guess given that -- and we weren't too sure -- given the timing of when this presentation was put together, and you have done some updates to your application, in particular around the CIS system -- whether the costs shown here for 2011 and 2012 were consistent with the updated application, or whether they were more based on the old application.

And if they were based on the old application, I'm wondering whether we could get an update of this table that would be consistent with the updated application.

MR. SIMPSON:  So we do have a handout, which I think will hopefully get us there.  I believe what you are also looking for was some actual to-date spending for 2011?

MR. HARPER:  Right, because if we're going to compare it with the budget, we thought we might at least have the updated budget for 2011.

MR. SIMPSON:  Right.  So what we have provided as both OM&A and capital is a similar version to what you had on the last page in the previous response, which now we are giving our year-to-date June actuals, both on OM&A and CAPEX.

The one -– obviously, this includes the CCNB transition in it.  It's obviously the largest-scope individual project on the page.  Its numbers have changed significantly for 2011, as you will see on the top line, and as has been discussed previously with the shift of the timing of the project further into -- or into 2013.

So the '11 spending is much different, and you will see that as far as the June actual, as well, on line 1.

And then the balance of the information is provided there for your information, as far as spending to June.

I have totalled it kind of for what I think is relevant information at the bottom.  There is a total there excluding the CCNB, but because it is quite a significant variance, as we have discussed, we have pulled that out of the total, as well, and then taken a half-year on the budget, which is a little bit rough, but not bad.

MR. HARPER:  Right.  No, I understand.

MR. SIMPSON:  To sort of give a feel for where we are.

So on the OM&A, we are at about 88 percent of the planned spend, and on the capital we're, even without the CCNB, a little lower than what you might expect to be 50.

But that's where I get to the point that some of these projects, as noted down the comments on the right, are -- we are scheduled to fire up later in the year, than rather on the six-month basis.

So that covers the 2011 request, I believe.

The only number as far as updating the 2012, there, in fact, is no update required to the 2012 related to any of the numbers on this page.  What has happened for our 2012 CCNB number, it essentially stayed the same and we pushed some into 2013.

MR. HARPER:  Maybe just for completion, off the top of your head, how much of that was then pushed into 2013?

MR. SIMPSON:  What came out of '11 was 3.5 million.  The total amount for '13, if you want it –

MR. HARPER:  No, I was more interested just in terms of how much was pushed over.

MR. SIMPSON:  About 3.35 million.

MR. HARPER:  From '12 to '13?

MR. SIMPSON:  Correct.

MS. HELT:  If I can just interrupt you, Mr. Harper, we can have this document, then, marked as Exhibit MT2.2, which is an update of the final page of the IM IT plan and priorities, to show 2011 planned and actual to-date spending reflecting the June actuals on OM&A and CAPEX. 
EXHIBIT No. MT2.2:  UPDATE OF LAST PAGE OF IM IT PLAN AND PRIORITIES, SHOWING 2011 PLANNED AND ACTUAL TO-DATE SPENDING REFLECTING JUNE ACTUALS ON OM&A AND CAPEX.

MR. HARPER:  The last question may seem kind of small because the differences aren't great, but we just wanted to clarify, because you filed the plan and then you filed the update and there were some differences and whether those differences in those dollar values for years -– 7 million versus 6.9 or 7.7 versus 7.8 in 2012 were rounding, or whether that was because of an update and a change in the plans sort of thing.

MR. SIMPSON:  I think I will call it rounding.

MR. HARPER:  Okay.  That's fine.  We just want to make sure there was a change in activity.  We thought it was just rounding, but we just wanted to make sure.

MR. SIMPSON:  Yes.

MR. HARPER:  Thank you very much. 

Next, my Question No. 6 refers to -- still under Issue 2.1, it refers to your Interrogatory No. 27, and it is dealing with –- actually, a CCC interrogatory, which is labelled No. 10.

And there is a reference there in the response to a multi-year replacement plan for vehicle acquisitions, and we were wondering if it was possible for you to provide us with a copy of that.

MR. SIMPSON:  Again, we do have a copy to distribute.  What I am giving you is essentially a summary sample of the full plan for four years.  There is a page for each year, '09, '10, '11 and a forecast for '12, related to what comes out of our asset replacement plan. 

MS. HELT:  We can have this marked as Exhibit MT2.3, which is a response to VECC Technical Conference Question 6, being a document reflecting the multi-year replacement plan referred to in that interrogatory.

EXHIBIT No. MT2.3:  SUMMARY OF MULTI-YEAR REPLACEMENT PLAN, FILED IN RESPONSE TO VECC TECHNICAL CONFERENCE QUESTION 6.

MR. SIMPSON:  So just one more point of clarity on what's been handed out.

This is the replacement plan schedule only, so in years where there are additions to the fleet, you won't see those specifically in this document.  This is the document to track usage and replacement lifecycle.

MR. HARPER:  Right, just for existing vehicles you have that are coming to a point where they need to be replaced and you are tracking them and --


MR. SIMPSON:  Correct.

MR. HARPER:  Replacement, as opposed to augmenting the total size of your fleet?

MR. SIMPSON:  Correct.

MR. HARPER:  My next question, still under Issue 2.1, is the response to Interrogatory No. 29, which was VECC 14, and deals with long-term load transfers.  And I apologize.  I think some of this information actually is in the evidence, as I went back and reviewed it again last night, but maybe we can go through it quickly, in terms of just how many long-term load transfer customers you are planning on connecting in 2012?

MR. BENNETT:  For 2012, 44 customers.

MR. HARPER:  Right.  And I think, you know, you started a number of years ago, so how many have been connected over the course of the whole process?

MR. BENNETT:  There has been -- 148 customers have been connected, and there are 69 to be connected in 2011.

MR. HARPER:  Okay.  And then in 2011 -- and will there be any to be -- there is some to be connected in 2012, I believe, as well?

MR. BENNETT:  Yes, 32 customers in 2012.

MR. HARPER:  And there's some remaining probably after that, I think, because I think the Board was -- 2014 was the target date, sometime?

MR. BENNETT:  2014, yes.  2012, I am not sure what is left after that.  I would have to look back.

MR. HARPER:  And I guess -- I may be interested in, like, you are connecting this cost to connecting each of these customers, and I am just wondering sort of -- and you've costs in here for what the program's been doing.  Are the costs for connecting the additional subsequent customer is roughly about the same on a per customer basis as historically, or is it -- or sort of, you're leaving the best to last or the worst to last, or...?

MR. BENNETT:  There definitely was a concept of doing the easiest ones first, so the cost per customer rises as you move through the process.

MR. HARPER:  Fine, thanks.

The next question deals -- it's under -- it deals with issue 2.2, and it was your Interrogatory No. 19, which is VECC No. 17.  And we are just wondering, is the transition to monthly billing entirely based on the introduction of the new CIS, such that with the delay in the implementation of the new CIS there will be a commensurate delay in the implementation of monthly billing?

MS. SCOTT:  Yes, yes, so we will implement the new system, and then shortly after the monthly billing.

MR. HARPER:  Right.  So any of the sort of pros and cons of monthly billing sort of discussed in the application will be delayed to 2013 as well sort of thing, with the delay in the CIS.

MS. SCOTT:  Late 2013, early 2014.

MR. HARPER:  Late 2013.  Right.

Okay.  I guess Question No. 9 is still under issue No. 2.3, and it is response to your Interrogatory No. 12, which was an SEC Interrogatory No. 18.  And at page 7 of attachment 2, table 1 of this interrogatory, the total project costs for the CIS upgrade was estimated as roughly $7.4 million.

In the IMIT plan at K2, issue 2.1, Interrogatory 26, it appears that the equivalent amounts for the CCB are now 7,000 in 2001 and -- excuse me, 7 million in 2001 and 7.7 million in 2012, which is roughly -- looks like a doubling of the project costs, and I was wondering if you could explain this difference.  Is there a difference in scope, or is it's just a difference in -- increase the cost of the project overall?

MR. SIMPSON:  The -- I guess the easy answer is our estimate is far better now than it was then.  But some of the history on what was in the estimate then was -- and this required a little bit of research, but essentially, the estimate that was put forward at that time was an early estimate, and it was based on about a -- for what was considered an upgrade at the time of the existing CIS system, about a sort of industry standard at 30 percent of the initial capital cost, and that was in the $21 million range, so that's where the 7 million or so came from.

Since then there has been numerous changes in the, essentially, the scope of the program.  Independent consultants have been, you know, brought on to help with some of the costing and provide opinions on the transition to the CCNB that we are now underway with.


And again, some of the cost increase will be time, but the rest of the cost increase I think is primarily attributable to, I guess you can consider it a scope change, in that there is far more in our customer care and billing system now than there was then, with changes related to time of -- smart meters, time-of-use rates, the required interfaces, and all the functionality required to be compatible with the MDMR and other programs.  So it's certainly a more refined estimate than it was at the time and a larger scope of adjustment.

MR. HARPER:  Okay.  Thanks.

My next question is still under issue 2.3, and it's your response to your IR, which you labelled IR No. 8, which was SEC 34.  And I guess that was dealing with, there was a discussion even yesterday, I believe, around discontinuing of security deposits, and I believe you probably answered this yesterday, in terms of, you haven't made any adjustment to your bad debt expense in the application as a result of your change in your security deposit policy.

MR. SIMPSON:  Overall on a net basis we have not, no.  The bad debt expense has not increased.

MR. HARPER:  And my next question, which is No. 11 in my package, we noted in your capital program there was about $2.5 million in capital expenditures related to the Lisgar TS, and that was spending that you were making.

And I will try and cover both at once, because I think there's some that may be interrelated.  So we were wondering what the purpose and the nature of that project was.  And the reason this tweaked our mind is, you recall yesterday we had some discussion around your Green Energy plan, and there was a letter filed from Hydro One about a Lisgar TS, and I think they own, if I'm not mistaken, and there was some limits on that and how that was affecting your Green Energy plan, and so we were wondering whether it's the same Lisgar TS you are talking about, and whether you are doing expenditures related to assets that they own for some reason and whether this expenditure's still needed in light of the response that Hydro One gave you in their letter.

MR. BENNETT:  It's the same one, and so Ottawa is a conglomerate of relationships with Hydro One, and Lisgar station, they own the station, they own the high-voltage equipment, we own the switch gear, the 13-KV switch gear.

So the work that we had included was not to do with the letter or the restrictions that Hydro One has.  They have issues there that we expect they will have to deal with. It had to do with new customer load.  So for example, in the downtown area we have a light rapid transit system that's being installed, and as well the federal government has a location, Cliff Street heating plant, that they want to convert to electric, which will be over 20 meg load.

So the work that we proposed for Lisgar, actually, there's three stations that are in the study, and Lisgar was one of them, so that was the nature of the work that was proposed.

MR. HARPER:  Okay.  Thank you.

Actually, I am looking at moving on to a totally different subject area, and since it's approaching eleven o'clock, now might be a good time for the break if people want to...

MS. HELT:  I think that's a great idea.  Why don't we break until quarter after 11:00, and then we will finish up with all of your questions.  Thank you.

--- Recess taken at 10:58 a.m.

--- On resuming at 11:20 a.m.

MS. HELT:  All right.  I see that everyone is back.

So we ended off with Mr. Harper asking Technical Conference Questions on behalf of VECC, and I believe you are going to continue now, Mr. Harper?

MR. HARPER:  That's correct.

And perhaps I could just cycle back to that one question I was somewhat confused over, and I would like thank Board Staff for getting me the proper reference.

And it was my Technical Question No. 3, which was referring to, under Issue 2.1, Interrogatory No. 5(d), which was Energy Probe Interrogatory No. 9.

And in that, the original question was asking about the planned leasing of facilities to the holding company or Energy Ottawa, and the response indicated that was not going to take place in 2012.  And I guess just to complete the picture, I want to get a sense of when it was expected that that leasing would start to occur, and any sense of what was the magnitude of revenues that would be involved in that on an annual basis.

MR. SIMPSON:  Sorry, just one moment.

The incremental revenues for the leasing of the space to the holding company and Energy Ottawa would occur at the time that we have moved into the administrative building.  That's essentially where they are, unless there is change of plans.

So in the exhibits, and I can flip to them if necessary, but -- and that would happen, I believe, in 2016.

MR. HARPER:  Okay.

MR. SIMPSON:  Right?  And as far as to the magnitude of those, we do have those sort of charges happening through our SLAs now, which are in the exhibits.  All things being equal, somewhere in those ranges, as far as amounts, and we can go to those amounts if you want.  I can --


MR. HARPER:  No, I guess you'd say the magnitude of the amounts, because the magnitude of the amounts, I assume, would depend on the amount of square footage that's actually leased to the holding company.

MR. SIMPSON:  Correct.

MR. HARPER:  So if you are replacing like space now for like space there, then what you are saying is the dollars that are in the application now for leasing, subject to any escalation that takes place between now and 2011, would roughly be in -- they wouldn't really be incremental revenues in the sense of over and above; they would just be --


MR. SIMPSON:  They're a similar process to today's process, and then just three, four years out, what's changed as far as staffing and square footage.

MR. HARPER:  That's fine.  Thank you very much.

Maybe if I can move forward, then, I think I had finished off and I was moving to different subject area, I'd indicated, and that was Issue No. 3, dealing with the load forecast and operating revenue.

And the first question I had, which was our No. 12, was asking what was the loss factor used to convert 2011 and 2012 purchase forecasts into sales forecasts, and I think in your exhibit you filed yesterday, MT1.3, you actually answered that as 3.57 percent, if I can recall correctly.

MS. SCOTT:  That's correct.

MR. HARPER:  I think you also indicated that that loss factor was basically based on a three-year average, which would be the most recent?

MS. SCOTT:  Because it was based on the three-year average for the less-than-5,000-kilowatt customers, of 1.0358, which is a three-year average.

MR. HARPER:  Right.  And then adjusted for the large-users sort of thing.  Right.

MS. SCOTT:  That's correct.

MR. HARPER:  I guess the last part of this was just asking what was the average historical loss factor over the period.  Now, I picked 1997 to 2010 here, because it was my understanding that that was the historical period over which you used data to estimate your purchase forecast equation in the first place, and so that was really the basis for that.

So I was wondering what was your average loss factor experience over that period.

MS. SCOTT:  We have provided 2005 to 2010.  If you want me to go back further, I will have to take it as an undertaking.

MR. HARPER:  So you have provided the individual ones and then I think the --


MS. SCOTT:  In the Exhibit H, the exhibit on the loss factor.

MR. HARPER:  Okay.  And you didn't go back any further in --


MS. SCOTT:  I have not.  Board Staff had a question yesterday, and I provided him with the 2005 number.

MR. HARPER:  Right.

MS. SCOTT:  Which was 3.33.  So it's Exhibit H4-1-1 that has both the losses as a percent of purchases and the loss factor.

MR. HARPER:  Okay.  And so you would have six years there.  Okay.  No, that should be fine, I won't ask you to pursue that any further.

No. 13 was dealing with the calibration of the customer class forecast, the question I had here, to the purchase forecast.  And I believe you responded to that yesterday, as well, and MT1.3 provides all the information that I needed.

MS. SCOTT:  Yes.

MR. HARPER:  For that one, as well.

I would like to move on to our No. 14, which is --references your response to Issue 3.1, Interrogatory No. 11, which was VECC 27(a).

And in particular, the -- and I guess in looking at that IR response, we realized that a number of the equations that you used for your customer class estimations in the forecast seem to combine temperature and other economic variables, like for residential --


MS. SCOTT:  That's correct.

MR. HARPER:  -- you were combining real personal income and cooling degree-days, and real personal income and heating degree-days.

And we were wondering -- to be quite honest with you, the first time I had ever seen this concept of combining two variables and putting them together into just one variable in an equation, we were wondering if you could explain more fully how you combine these variables together to come up with one number with one variable, which you then used in your estimation process.

MS. SCOTT:  It's actually very simple.  It's a multiplication of the two variables to make one.

MR. HARPER:  And could you explain why a combined variable, as opposed to putting the two variables in separately and letting the effects of each of them be captured separately in the regression analysis, is viewed as being a better way of doing it, or an appropriate way of doing it?

MS. SCOTT:  Yes.  When Itron developed the original regression model, they found that the separate –- the economic driver by itself was sometimes statistically insignificant, but when they multiplied them together, it was more significant and it gave a better result.

MR. HARPER:  It gave a better result statistically, then, is what you are saying?

MS. SCOTT:  For the forecast, yes.

MR. HARPER:  In part (c) here, we are just wanting to -- I just had taken one equation.  Obviously, the residential class, since it's residential customers.  We are particularly in asking if it was possible for you to re-estimate that equation with the cooling degree-days, heating degree-days and disposable income as separate explanatory variables -- so you would have the three instead of the two -- and just give the overall results in terms of what the coefficients and the results of the equations were, so we could see what the distinction was.

MS. SCOTT:  We have done that, and we will file it as an Excel spreadsheet, if that's acceptable.

MR. HARPER:  Great.  So that sort of, I guess, is an undertaking, then?

MS. SCOTT:  Yes.

MR. HARPER:  Yes.

MS. HELT:  Undertaking LT2.5 will be to provide an Excel spreadsheet in response to Technical Conference Question 14(c) of VECC.
UNDERTAKING NO LT2.5:  to PRODUCE SPREADSHEET PREPARED IN RESPONSE TO VECC TECHNICAL CONFERENCE QUESTION 14(C)

MR. HARPER:  I would like to move on now to our Question No. 15.  I apologize that it's a rather long question, but we were looking at -- in essence we were -- I will go through the multiple parts here, if you want, but in essence, we were looking at the response to this question, which was VECC No. 27 IR, and the attachment to it, and trying to reconcile it with some of the information that had been filed if in original application, particularly appendix X of Exhibit C1, and finding there were a number of places where we couldn't reconcile the information or the headings or the data was provided.

So with that preface, I would like to sort of work through the individual questions.

And the number (a) was with respect to the question used to develop the GS less than 50 kilowatt customer count, can you please explain why, as shown in the attachment 1 to VECC 27 at page 1, the predicted number of residential customers from the customer count equation was used as an explanatory variable, as opposed to the actual number of residential customers when you are actually estimating that customer counting equation?

MS. SCOTT:  The predicted number of residential customers is based on economic variable, and that number, the predicted number of residential customers, was found to be a good forecaster of the GS less than 50.

MR. HARPER:  I understand why residential customer count might be used as a good predictor of GS less than 50 customers looking forward.

It was my understanding that actually -- from reading the IR response, it was my understanding that in estimating the actual equation, what you did was you didn't estimate the equation using actual number of residential customers historically, like take historical number of GS customers and historical number of residential customers and regress one against the other.  You regressed the actual number of GS customers against what your customer count model predicted would have been the number of residential customers in that year when you put the historical data into it.

Now, maybe I understood what you did wrong, but that was my understanding.  I couldn't understand why you were using predicted data to estimate the model, the original model, not do the forecast, but estimate the original model.

Maybe -- is my understanding wrong, or did you actually use predicted numbers to estimate the actual model?

MS. SCOTT:  We used the predicted numbers, yes.

MR. HARPER:  And again, I guess I was just struggling with, you know, if you have got actual GS customers, why you wouldn't be using actual residential customers to...

MS. SCOTT:  My understanding is the feeling was that the -- using the predicted was providing a statistically significant forecast, and while we could have -- an alternative would have been to use the historical in the forecast, we didn't go down that route.

MR. HARPER:  Okay.  Fine.  I guess, you know, what strikes me in that response and the response you gave me earlier was, in a number of cases you've been -- the selection was based primarily just on what was the best fit, what gave you your statistical fit, and so I would like to move on to number (b), which was, in many of the equations you include binary flags like one or zero for variables that flag certain months or certain events, and in many of these equations the statistics or the significance of those variables is basically negligible.  They are not significant.

I was wondering why in sort of putting forward the final equations you maintain a lot of these variables in the equations, even though they were proven not to be significant, in terms of explaining historically the changes that you were trying to explain.

MS. SCOTT:  We just did not take them out.

MR. HARPER:  Okay.  And I think -- and I just -- I think in response to an IR from Energy Probe you did do some runs where you did take them out, if I am not mistaken.

MS. SCOTT:  Take some variables out, yes.

MR. HARPER:  Right.  Okay.  Fine.  So is that...

The next question, (c), with respect to the GS -- I will have to watch my numbers here.  There are a lot of them here.

With respect to the GS greater than 50 but less than 1,000 non-interval class, can you please explain why in Appendix X, which is the appendix in the original application at page 8, and in VECC 27, what you appear to be doing is using historical sales as an explanatory variable to explain forecast sales.

MS. SCOTT:  And my answer for this one, I think, will probably explain (c) to (f) and (k) --


MR. HARPER:  (k), (j), (m), (n), (o), (p).

MS. SCOTT:  (k), (l), (m), (n), (o) -- yes.

MR. HARPER:  (p); right.

MS. SCOTT:  Yes.  It's the difference between kilowatt sales and kilowatt-hour sales.  So in the Appendix X it provides the details for the kilowatt sales.  The kilowatt hours or megawatt hours is a variable which combines historic and forecasted energy sales for that class, and that was found to be a good predictor of kilowatt sales.

MR. HARPER:  Okay.  Fine.  No, that helps.  I think that answers a number of the questions, that the same one applies to the other customer classes you have here as well.  That answers a number of the questions that I have here.

If I move down to (g) then, which is the first one that I guess isn't impacted by that particular issue, it says, please confirm that the titles for the table in Appendix X, pages 11 and 12, should read "GS greater than 1,000 to less than 1,500".

MS. SCOTT:  And the answer is yes.

MR. HARPER:  Okay.

MS. SCOTT:  And for (h), (i), (j) the answer is yes.

MR. HARPER:  Okay.  So -- okay.  Okay.  So that's great.

And I guess understanding that sort of was a different equation, I guess when I come to (q), which I think was the last one here, there really aren't any changes required to the customer class forecast then.

MS. SCOTT:  That's what we thought, yes.

MR. HARPER:  Okay.  Fine.  Thank you very much.  That was a lot less painful than I thought it was going to be.

MS. SCOTT:  Me too.

MR. HARPER:  Moving on to No. 16, which refers to -- it's referring to the update and to Staff Interrogatory No. 27, and I was wondering if -- Staff Interrogatory 27 was trying to explain the adjustments that were made to the load forecast, and I'm wondering, based on the updated load forecast, could you provide a revised response to Staff No. 27 that separated out the CDM adjustments from the suite-metering adjustments so we can see each of the individual adjustments separately and how you got from the start to the end?

MS. SCOTT:  Yes, and I have not done that yet because when we get to VECC 20 we will talk about the CDM adjustment and how it might be changing.

MR. HARPER:  Okay.  Okay.  Okay.  That's fine then.

MS. SCOTT:  So I would have an undertaking for that --


MR. HARPER:  Did you want to -- yeah, we can leave a placeholder here for that then?

MS. SCOTT:  Yes, yes.

MR. HARPER:  Yeah.  LT...

MS. HELT:  That will be Undertaking LT2.6.
UNDERTAKING NO. LT2.6:  TO PROVIDE A REVISED RESPONSE TO STAFF NO. 27 THAT SEPARATED THE CDM ADJUSTMENTS FROM SUITE-METERING ADJUSTMENTS

MR. HARPER:  I guess moving on to my No. 17, which is dealing with issue 3.1, Interrogatory No. 7, or Energy Probe No. 24, the response in it had a number of pages that weren't in the original Appendix X, and there wasn't a title on the page, so I really couldn't tell which customer class those pages applied to, and I was wondering if it was possible for you to indicate to me -- or which customer class applied to each of those pages that wasn't included in the original exhibit.

MS. SCOTT:  Yes, page 10 refers to the GS greater than 50, less than 1,000 non-interval sales energy.

MR. HARPER:  Okay.

MS. SCOTT:  Page 13 is the same but -- the same class, but interval.

MR. HARPER:  Okay.  Yes.

MS. SCOTT:  Page 15 is the GS greater than 1,000, less than 1,500 kilowatt sales.  And page 18 is greater than 1,500, less than 5,000.

MR. HARPER:  Okay.

MS. SCOTT:  21 is large users, 25 is street lighting, and 28 is dry core.

MR. HARPER:  Great.  Okay.  Thank you very much.

And I think actually in No. 18 I was -- you had made a reference in response to VECC 28(a) that there were regression equations used to come up with the billed kilowatts for each of the demand classes, and I think in -- in the discussion we had earlier I think you flagged that those have actually been -- those were actually filed in the responses to the IRs already.  Those are what we were talking about earlier.  So I think, if I am not mistaken, you have already provided the model formulation and the regression results for those -- for those kilowatt sales customers?

MS. SCOTT:  I do -- I do have an Excel spreadsheet --


MR. HARPER:  Okay.

MS. SCOTT:  -- to file, so I was planning to file something for that.

MR. HARPER:  No, if you could.  Well, I wouldn't want to sort of -- that's great.  Thank you.

MS. SCOTT:  So that's another undertaking.

MR. HARPER:  LT...

MS. HELT:  Undertaking LT2.6, to -- or 2.7, I am sorry, which is a response to VECC Technical Conference Question No. 18.
UNDERTAKING NO. LT2.6:  TO RESPOND TO VECC TECHNICAL CONFERENCE QUESTION No. 18

MR. HARPER:  Okay.  And Question No. 19 is dealing with the updated -- it was in the area of the updated load forecast and the change in estimated conversions of GS customers to residential customers.  And I think you have answered part (b) already in response to some of the questions yesterday, and part (a) was asking really, how many GS greater than 50 and less than 1,499 kilowatt customers had been converted to residential in 2011 to date, and what was the resulting number of new residential customers?

MS. SCOTT:  There has been none to date in 2011.  So there was 172 in 2010, which was one GS customer --


MR. HARPER:  Right.  Okay.  No --


MS. SCOTT:  -- but to date in '11 none have occurred.

MR. HARPER:  Okay.  Thanks.

I go on to my Question No. 20, which is again under -- this time under issue 3.3.  Could you please confirm that in response to VECC No. 31(b) both the total annual savings and the total cumulative savings for 2014 should read 375.1 gigawatt hours?

MS. SCOTT:  That's correct.

MR. HARPER:  Okay.  And then again with respect to VECC 31(b), can you explain why both the total annual savings and the total cumulative savings for each year are the same and why the cumulative savings, basically the very bottom row, wouldn't be the -- basically accumulating the sum of the individual annual savings as you move through the table?

MS. SCOTT:  This is an example of, if you ask the question enough times I will maybe finally get it.  Our original understanding was that the targets were how we presented them, and cumulative in the sense that it was cumulative in 2014.  The savings that had carried over from -- so if we had 100 gigawatt hours in 2011, that counted only as 100 in 2014.

So the original way it was presented was our original understanding.  Because you have asked the question again, I have gone back to my CDM people, and they now tell me that things have changed, and it is more of what you are saying, that if you have 10 in 2011 and it persists to 2014, it's 10 plus 10 plus 10 plus 10.  It's 40.

So as a result of that we will be revising our -- they have revised their understanding of the targets and we would have to revise our CDM adjustment.

MR. HARPER:  Don't feel bad.  You aren't the only one we go through this conversation with.

MS. SCOTT:  My understanding is this has been a change in -- I don't know if it's the OPA or the OEB, of how they have presented the targets.  And it wasn't until just recently that the understanding changed.

MR. HARPER:  Actually, we were going through the same discussion with parties who filed for cost of service.  At that point in time, we were in the same discussions and the same interpretation.  But I must admit when it first came out and was first presented, it was never very clear in terms of how it was presented.

And unless people ask the question enough times --


MS. SCOTT:  That's what I'm saying.

MR. HARPER:  And as you indicated, even the explanation is difficult to understand the nuance of the difference between them, so I can appreciate where 
you're --


MS. SCOTT:  I mean, the good news is our targets are not as high; the bad news is I have to change the load forecast again, for the third time.

MS. HELT:  So we can have that noted, then, as an undertaking, to provide a revised CDM adjustment.

MS. SCOTT:  Actually, it will be shown as part of the undertaking we had for No. 16, so LT...

MS. HELT:  2.6?

MS. SCOTT:  2.6, yes.

MS. HELT:  All right.

MS. SCOTT:  If that's okay with Bill.

MR. HARPER:  That should be fine.  I think Staff 27 dealt with all customer classes, not just the residential.  If I am not mistaken, I think it showed the adjustments for CDM for all customer classes?

MS. SCOTT:  Absolutely, yes.

MR. HARPER:  Then that should be fine.

I would like to then move to our Technical Conference Question No. 21, which is VECC 31(a), and this was asking basically for a tabulation of historical achievements on CDM by Hydro Ottawa.

And in the table for 2008 third tranche programs, you showed 77.9 gigawatt-hours and I was -- our first question was:

"Please confirm that the 79.1 gigawatt-hours shown as the impact of the 2008 third tranche programs in 2008 is really the total impact of third tranche programs offered over the period 2005 through to 2008."

MS. SCOTT:  Back to the previous point, cumulative, yes, it is.

MR. HARPER:  And going on to (b) is that the actual third tranche savings in 2008 from your 2008 third tranche programs was basically 12,170 megawatt-hours?

MS. SCOTT:  Yes.

MR. HARPER:  On that basis, would it be possible for you to update your response to VECC 32(a) in order to reflect those changes?

MS. SCOTT:  I would have to take an undertaking for that.

MR. HARPER:  Okay.  That's fine.

MS. HELT:  That will be Undertaking LT2.8, to provide an updated response to VECC No. 32(a), which is referred to in VECC Technical Conference Question 21(c).

UNDERTAKING LT2.8:  to UPDATE RESPONSE TO VECC NO. 32(A) as REFERRED TO IN VECC TECHNICAL CONFERENCE QUESTION 21(C).

MR. HARPER:  And the final part under No. 21 from our Technical Conference questions was:

"Please confirm that Hydro Ottawa has not undertaken or commissioned any assessments as to the persistence of savings achieved by its third tranche CDM programs beyond the year in which they were introduced.  If so, please provide the analysis and the projected persistence through to 2012 of each year's third tranche programs."

MS. SCOTT:  We have not done any separate study on the persistence.

MR. HARPER:  Okay.  That should be fine, because I wasn't too sure and maybe I misheard yesterday when Mr. Silk was asking questions about assessments of CDM programs.  I thought -- actually, I thought in reference to his responses, there was -- some reference had been made to having done sort of evaluations of third tranche programs.

MS. SCOTT:  Programs in terms of how many were the number were that was reported installed, things like that, but not the --


MR. HARPER:  Just sort of like how many light bulbs in that year, and so what would be the impact in the first year of the program?

MS. SCOTT:  That's right.

MR. HARPER:  Okay.  Fine.  Thank you very much. 

Our Technical Question No. 22, I believe, was answered yesterday in your response to Energy Probe's Technical Conference questions, as this was asking to try and understand the difference in the deficiency, the changes in the deficiency between the application and the update.  So I think I have got the answer to that, between the answers you provided to CCC and the ones you provide to Energy Probe yesterday.

MS. SCOTT:  Right.  And I will just say the majority of it is smart meters, and then when I did the calculation in change in the number of customers, the change in kilowatt-hours and the change in kilowatts, it came out almost exactly to the 365K that has not been explained by the smart meters.

MR. HARPER:  Great.  Thank you very much. Our Technical Conference Question No. 23 from VECC, could you please confirm the transformer ownership credit for 2012 is roughly $1.2 million?

MS. SCOTT:  Correct.

MR. HARPER:  And that based on this transformer ownership credit, could you please confirm the 2012 revenue at current rates is $141.2 million, roughly?


MS. SCOTT:  Right.  The difference between the two numbers, one is based on an average number of customers in the year, and the other is based on the monthly calculation.

MR. HARPER:  And which is which, if you could help?

MS. SCOTT:  The 141,213.6 is the average numbers, and the 141.223 is the monthly numbers.

MR. HARPER:  I guess maybe both numbers seem to show up here and there in the application and in the update, so which one, from your purposes, is the one that you believe we should be relying on for looking at revenue at current rates, when we are calculating the deficiency?

MS. SCOTT:  I usually just round it off to 141.2 and be done with it.

MR. HARPER:  Okay.  Fine.  That's fine. 

I think No. 24 from VECC dealt with the revenues from microFIT customers, and I believe you responded to that already in your response to Energy Probe questions yesterday.

MS. SCOTT:  No. 18, EP No. 18. 

MR. HARPER:  Right.  Yes, that's right.  I would like to move on now to operating cost, which is Issue No. 4.


And if you go to VECC Interrogatory No. 38, I believe it is, I guess in response to item (i) under that, how many staff were added in support of the load dispatching, and what were the reasons for needing those additional staff?

MR. SIMPSON:  So under the 5010, load dispatching 2008 to 2012, there were, in fact, six apprentices added in 2008, one new full-time hire in 2010, and also one temp in 2010.

From an apprentice perspective, staff is required to be onboard for a period of time before they are up and running and ready to replace those that are eligible and scheduled for retirement.  A number of experienced operators are eligible for retirement in the next couple of years, and there is also some cross-training and back-up and that sort of thing related to the hiring in that area.

MR. HARPER:  Okay.  So I guess -- and was the number of -- focussing on one area, it seemed to be a lot of apprentices coming into one particular area.  And so is this an area where there is a high concentration of staff eligible for retirement within the near future?

MR. BENNETT:  The group that we are talking about there is the system office, so it's the 24/7 operation control centre, if you like.

And there is a combination of things.  So there is a group of people who are the veterans, as you say, who are going to be coming up for retirement over the next few years.

The other thing is that the -- I will say that there was a change in operational mindset, so we ran system operations, the internal operations, separate from the external operation, and the field switching was done by staff in the field.

What we came to understand very quickly as we started bringing apprentices in, they learn a lot better when they can get hands-on portion.  So we have created an operator, field operator, and they roll through that role as field operator as part of their apprenticeship program.  But as well, many of the system operators that came from the amalgamation of the utilities, who had never been in the field, we rolled them through that process, as well.

In essence, rather than hire some PLMs to take on field view, we hired operators to take on that field side of the operation.

MR. HARPER:  Okay.  Fine.  Thanks.

My next question deals with VECC No. 42, and in there, there is a reference to quantitative metrics used to determine incentive pay, and we are just wondering if we can get some more details on what those quantitative metrics were.

MR. SIMPSON:  Yes.  So I do have that.

Essentially, there are -- the quantitative metrics that are used fall under what we call our four key areas of focus:  financial strength, customer value, organizational effectiveness, and corporate citizenship.  And within each of those four pillars, if you will, there are five to 12 different specific metrics.  I do have a list of them here.  I can read them into the record.

MR. HARPER:  Well, actually, it may be just as easy if you sort of put them on a piece of paper and sort of...

MR. SIMPSON:  Yes.  In retrospect I was thinking that too.

MR. HARPER:  Hand them around so -- and if you want to take that undertaking, that will be fine.

MR. SIMPSON:  We will take that as undertaking.

MS. HELT:  That will be Undertaking LT2.9, to provide a list of the performance metrics considered.

MR. SIMPSON:  Thank you.
UNDERTAKING NO. LT2.9:  TO PROVIDE A LIST OF THE PERFORMANCE METRICS CONSIDERED

MR. HARPER:  Moving on, I think VECC Question No. 27, I believe we dealt with yesterday, and there is an undertaking dealing with that, Undertaking LT1.14?

MS. SCOTT:  Yes, you beat me down yesterday and I agreed to an undertaking.  And I think it covers 28 as well, doesn't it?

MR. HARPER:  Well, I think that's dealing with the -- well, I think 28 we talked -- you talked a bit about yesterday, in terms of -- and maybe we looking at the evidence understood it a bit better, because this is dealing with the fact that there was an acknowledgment in one of the responses that if you -- that there might be an over-recovery if you maintain the equivalent of the 14 cents and apply that, and I think as part of your update you had changed your application and had basically -- your updated application basically addressed 28(b), which was basically, how would you propose to make an adjustment to the disposition in order to account for the fact that revenues were coming in during the first months of 2012.

MS. SCOTT:  Yes, we put those into the various accounts.

MR. HARPER:  Right.  And that basically brought you down from the 14 cents to the -- and literally, I mean, 2011, smart meters are going to rate base, but that was part of the calculated reduction down to the 10 cents per customer that was worked out in the sheet there.

MS. SCOTT:  That's right.

MR. HARPER:  Okay.  So I think with that understanding we are okay there.

MS. SCOTT:  Okay.

MR. HARPER:  Moving on to Question No. 29, and this is in the area of cost allocation, can you please explain why the revenues at existing rates by customer class set out in sheet 01 of your updated cost allocation don't match the revenues set out in attachment AL, page 51?  And in looking at the revenues in AL-51, I must admit what I did was I took those and then subtracted off the transformer ownership credit from page 47 of that same attachment, because it's supposed to be net of the transformer ownership, but even when I did that the two of them didn't match up.

MS. SCOTT:  On the sheet 01, were you looking at line 18?

MR. HARPER:  I was looking at the line that shows revenues at existing distribution rates.

MS. SCOTT:  Right.  And they come from the I6.1 page.

MR. HARPER:  Right.

MS. SCOTT:  And when I go back to that, I -- my numbers match up minus the -- so on AL-51, minus AL-47, it matched up to -- I can give you my numbers if you want.

MR. HARPER:  Okay.  Well, maybe the easiest thing to do is if we can take this all offline, as opposed to having to take up time here, because to be quite honest with you, in that input sheet, I thought she actually input the wrong residential rate.  That was part of the reason for the explanation. 


So maybe I printed off the wrong -- downloaded the wrong spreadsheets off the Board's website, but maybe it's best if myself and Ottawa Hydro try and sort of see if there is any discrepancy.  If there is we can sort of -- I am not sure we can follow up that and then manage it going forward sort of thing.  So I think that would cover off.

Now, I guess the other thing was, is moving to -- so that will cover off part (b) as well sort of thing.  If there is a need for change, there is need for a change.

If I go to attachment AJ in your updated evidence...

MS. SCOTT:  Yes, for (c), (d), and (e) I will have to give you an undertaking.

MR. HARPER:  Okay.  Right.  Because I think there was a -- the numbers there didn't match the cost allocation and they didn't balance, so that's right.  So there would be an undertaking for that then.

MS. SCOTT:  Yes.

MS. HELT:  Undertaking LT2.10, which will be a response to VECC Technical Conference question 29, parts (c), (d), and (e).
UNDERTAKING NO. LT2.10:  TO RESPOND TO VECC TECHNICAL CONFERENCE QUESTION 29, (c), (d), and (e)


MR. HARPER:  Okay.  And moving on to VECC Technical Conference Question No. 30, in this -- in the response reference, which was VECC 52(b), you were explaining why you had increased the monthly service charge for a particular class when the existing value was already over the ceiling for the class, and you quoted a Board policy as one of the bases for this, and we were wondering, the quoted Board policy only states that distributors whose current monthly service charges are above the ceiling are not required to reduce them.  However, Hydro Ottawa is proposing to increase the monthly service charge for these classes even though the current 2011 charges exceed the ceiling based on 2012 costs.

Please explain how this increase is consistent with the Board stated policy.

MS. SCOTT:  I did answer a similar question with SEC No. 16, but -- and the quoted Board policy -- maybe I should have expanded that a bit more -- it also says you are not to raise them from below the ceiling to above the ceiling.  But nowhere does it say if they are above the ceiling are you not allowed to increase them.  So in order to keep the fixed and variable split the same we have applied the percentage increase across the board.

MR. HARPER:  Okay.  I understand your position, and I am sure Schools did too when they were hearing the answer.  We will leave it at that.

If I go on to VECC No. 31, and this was with reference to VECC's original IR No. 53, and in 53(b), in the original question we had asked that the fixed-variable split for each class be calculated based on 2012 revenues at existing rates with the variable revenues reduced by the transformer ownership credit in the appropriate classes.

The response based the analysis on the proposed 2012 rates, as opposed to the existing rates.  Is it possible to redo the response per the original question?

MS. SCOTT:  And I am sorry to sound like a broken record, but I am afraid for 31, 32, 33 I am going to have to take an undertaking.  We just -- I just did not have the time to get to them.

MR. HARPER:  Okay.  That's probably the -- I understand.  There were a lot of questions in a short period of time, so that's fine.

MS. SCOTT:  Thank you, Bill.  I appreciate your understanding.

MS. HELT:  So we will then mark --


MR. HARPER:  Would it be possible to give each question a separate undertaking number?  That way we can keep track of them when they are coming in.

MS. HELT:  Certainly.  Undertaking LT2.11 will be a response to VECC Technical Conference Question No. 31.
UNDERTAKING NO. LT2.11:  TO RESPOND TO VECC TECHNICAL CONFERENCE QUESTION NO. 31

MS. HELT:  Undertaking LT2.12 will be a response to VECC Technical Conference Question No. 32.
UNDERTAKING NO. LT2.12:  TO RESPOND TO VECC TECHNICAL CONFERENCE QUESTION NO. 32

MS. HELT:  LT2.13 will be a response to VECC Technical Conference Question No. 33.
UNDERTAKING NO. LT2.13:  TO RESPOND TO VECC TECHNICAL CONFERENCE QUESTION NO. 33

MS. SCOTT:  And if you could add 35 in there, I would appreciate it.

MS. HELT:  And undertaking to question 35?

MS. SCOTT:  Yes.

MS. HELT:  Response to VECC Technical Conference question 35 as LT2.14.
UNDERTAKING NO. LT2.14:  TO RESPOND TO VECC TECHNICAL CONFERENCE QUESTION NO. 35

MR. HARPER:  Then I think that leaves No. 34, and actually, I think in your original evidence you had indicated that you thought the final results for the OPA programs would be available the third -- well, the fourth quarter of this year?

MS. SCOTT:  That is what we said, but on September 16th we did receive preliminary final numbers, which, we have a handout for you.

MR. HARPER:  Okay.  And are they -- preliminary final.  Okay.  

[Laughter]

MS. SCOTT:  That's the OPA's.

MR. HARPER:  Okay.  Okay.  And are these the ones that were used that -- because I believe you have now got -- in your updated evidence you have updated your evidence to include the 2010 results in your LRAM --


MS. SCOTT:  That's right.  The --


MR. HARPER:  -- claim, and these are the results that you have incorporated in that?

MS. SCOTT:  No.  We did the 2010 based on 2009 and what we knew about numbers of installations and things.  And so if you look, these numbers are actually higher --


MR. HARPER:  Okay.

MS. SCOTT:  -- than what we had estimated.  It's not significantly different.  So in the question about, will it affect the load forecast, it definitely will not affect the load forecast, because we do not incorporate these into the load forecast.

MR. HARPER:  Right.  But I guess it will affect your LRAM claim.  Sorry, are you proposing -- are you proposing as part of your application to change your LRAM --


MS. HARPER:  No, no.

MR. HARPER:  -- claim to -- to update it for these numbers, as opposed to the ones you've used in the calculation of the claim?

MS. SCOTT:  No, because we don't know if they are the final, final number.

MR. HARPER:  Right.  And I guess --


MS. SCOTT:  And we think our estimate was pretty good, and this -- so we will stick with our estimate.

MR. HARPER:  Okay.  I guess that goes to the final part of the question, which is dealing -- which -- and really was interesting, you know, and I admit you are responding to the Board's directive that if you want to get 2010 dollars, file now sort of thing.  We don't quite know what they are, but I guess this question will apply to every utility, I think, how in Hydro Ottawa's view -- I mean, if you're basing your claim on preliminary numbers, and sometime after the rates are approved, particularly if you have got a January 1st date, the final numbers come out and they are different -- minorly different, materially different, who knows? -- do you see there being any process, reconciliation, true-up?  Or is that the -- or is your claim the end of it?

I guess I just wanted your thoughts on this.

MS. SCOTT:  Our feeling was that based on our estimate, that would be what our LRAM would be, and there would be no recalculating, no true-up.

MR. HARPER:  Fine.  I just wanted to understand your perspective on this.

MS. HELT:  We should mark as Exhibit MT2.4 the document provided by Hydro Ottawa, entitled "2010 Final CDM Results Summary" in response to VECC Technical Conference Question 34.
EXHIBIT NO. MT2.4:  HYDRO OTTAWA DOCUMENT ENTITLED "2010 FINAL CDM RESULTS SUMMARY" SUBMITTED IN RESPONSE TO VECC TECHNICAL CONFERENCE QUESTION 34.

MR. HARPER:  I think with the -– oh, I know.  There was one follow-up I wanted to ask as a result of when you were discussing with Mr. Shepherd where IFRS was shown --influenced the tables in the application and where CGAAP influenced the tables the application.

You said Exhibit J was the only one where the IFRS numbers were shown.  I assume that when you were doing your rate design and your cost allocation sections, they were based on the final application you are asking for, which is the IFRS base numbers?

MS. SCOTT:  Well, I did it in both.  So I did the rate design and the cost allocation in CGAAP, and then applied the same, like, the changes that were required in the cost allocation, applied those to the MIFRS numbers, too.

MR. HARPER:  I must have missed that entirely in the application, and I apologize for that.  Maybe if you just give me the references, and if it takes you too much time, we can do that off-line, as well, sort of thing, just so I...

MS. SCOTT:  It would be in the J exhibit that is about rate design.

MR. HARPER:  So it's in J?  It's not in --


MS. SCOTT:  That's right.  It would be in J.

MR. HARPER:  Okay.  That's why I missed it.

MS. SCOTT:  We didn't do the whole cost allocation study, again, in MIFRS.  I took what the changes were from CGAAP and applied them to the MIFRS.

MR. HARPER:  So I will, then, look at the J exhibit and understand it, then.  Fine.

Thank you very much.  Those are all my questions.

MS. HELT:  Thank you, Mr. Harper.

Mr. Rubenstein, did you have any additional questions

MR. RUBENSTEIN:  No.

MS. HELT:  Thank you.

Mr. Cass?

MR. CASS:  Maureen, I understand there is a request for clarification on one other undertaking.  Hopefully, there will be someone here who can clarify it.

MS. HELT:  Certainly.  Go ahead.

MR. SIMPSON:  I requested that, and it may be that just talking to colleagues here will clarify it for me.

Can I just have one minute to do that

MS. HELT:  Certainly.

MR. SIMPSON:  I have received my clarification.  Thank you. 

MS. HELT:  All right, then.  Is there anything further from any of the parties?

I would like to thank everyone for their participation, and also to remind everyone, as set out in the Procedural Order No. 1 issued by the Board, responses to the undertakings are due by October the 3rd.  And the settlement conference is scheduled to commence 9:30 a.m. on October 13th and continue on through October 14th, if and as required.  Our facilitator is Ken Rosenberg.

So unless there is anything else, we will just wait for the filing of the undertakings.  Thank you very much.

--- Whereupon the conference concluded at 12:04 p.m.
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